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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP6AW W1
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P6AW

BfiE) | GEBEETIC (7)) ERE (EA/K) | EREE B/ | XK ERE

07:25 600 120.0 0.235 S| {Rig@07:25 Fzh (KREAERSE)
07:55 600 120.0 0.235 E 1BRi&e07:55 Fzh (RAEREE)
08:25 600 120.0 0.235 5| {Ri%e08:25 F 3 (FRAERSE)
09:05 600 120.0 0.235 = {Rig@09:05 F iz (KRAERSE)
09:40 600 120.0 0.235 E BRi&e09:40 Fzh (GRAEREE)
10:10 600 120.0 0.235 S {Ri%e10:10 Fzh (RAMERSE)
10:40 600 120.0 0.235 = RRi1B0@10:40 Fzh (RFAEEE)
11:10 600 120.0 0.235 S Rige11:10 Fzh (RAERSE)
11:40 600 120.0 0.235 = RiB011:40 Fzh (REAKESE)
12:10 600 120.0 0.235 =l Rige12:10 Fz1 (GRAERSE)
12:40 600 120.0 0.235 S {Rige12:40 Fzh (REAERSE)
13:10 600 120.0 0.235 E| {Rig013:10 Fzh (GREERSE)
13:40 600 120.0 0.235 F BRige13:40 Fz1 CGRAERESE)
14:10 600 120.0 0.235 Sl Rige14:10 F3 (RAERSE)
14:40 600 120.0 0.235 E BRige14:40 Fz1 CGRAERESE)
15:10 600 120.0 0.235 F[ BRige15:10 Fz1 CGRAERESE)
15:40 600 120.0 0.235 = {Rig015:40 Fz (REAERSE)
16:10 600 120.0 0.235 E BRige16:10 Fzh (GRAERESE)
16:40 600 120.0 0.235 S| {Ri%016:40 F3h (FAMEHSE)
17:10 600 120.0 0.235 =l RRiB@17:10 Fzh (REAKEE)
&23t| 12000.0 (20)%) 2400. 0 3FHKEC: 2080.0, PH: 6.5

AREHTERA (0.91) , BFEE

FeREHLERE STAAEART (265.0 :
EIREBAHC R F AR B2 18 (300 vs 240.0))

BRIASERRIERE150. 0 ml.
FE R 3t Bl RECEIB SR K.

FEERECE (2197.0 vs 4645.0) 05
REXREBHHEREC/PHERR K, AIREZINIEER R
LOREBIEC (2511.0) S54EHEY (2080.0) REKK, BWE.

150.0), FIREKRREERE




P6AW_W1, Day=64 (2025-06-08)
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PE6AW

BfiE) | GEBATK (D) | ERE (EA/K) | ERERE (B/R) | XS R

07:40 327 120.0 0.235 E BRi&e07:40 Bzl (GRAERESE)
08:10 327 120.0 0.235 5| {Ri%e08:10 Bz (FAAERSE)
08:40 327 120.0 0.235 = {RRiB008:40 B (RFAEEE)
09:10 327 120.0 0.235 E BRi&e09:10 Bzl (RAEREE)
09:40 327 120.0 0.235 5| {Ri%@09:40 Bz (FRAMERSE)
10:10 327 120.0 0.235 =l RRiB010:10 Bz (RFAEEE)
10:45 327 120.0 0.235 = RRiB010:45 Bz (REAKEE)
11:15 327 120.0 0.235 =l Rige11:15 Bz (GRAEESE)
11:45 327 120.0 0.235 = {Rige11:45 B3 (RAERSE)
12:15 327 120.0 0.235 Sl {Rige12:15 B3 (REAERSE)
12:45 327 120.0 0.235 E| {Rig012:45 B3h (GRE{ERSE)
13:15 327 120.0 0.235 5| 1RiRe13:15 Bz (REAEES)
13:45 327 120.0 0.235 S| {Rig013:45 B (RAERSE)
14:15 327 120.0 0.235 E BRige14:15 Bz CGRAERESE)
14:45 327 120.0 0.235 F BRige14:45 Bz CGRAERESE)
15:15 327 120.0 0.235 =l {Rige15:15 B3 (GRAERSE)
15:45 327 120.0 0.235 E BRige15:45 Bz (GRAERESE)
16:15 327 120.0 0.235 S| {Ri%e16:15 Bz (GRAERSE)
24t]5886.0 (18)%) 2160. 0 32 KEC: 2080.0, PH: 6.5

WRFHRERA (0.92) , HEE

HEREHERE S FEAEARTT (546.0 : 300.0), AJEE/KREERE
LOREBIRTC R IRAE 2 (600 vs 240.0))

ZRIASLPRIEERE300. 0 ml.

large discrepency for begining water status (270:132.0), set to 270 ml.
#E[EIRECE (2193.0 vs 4753.0) 35



P6AW W1, Day=63 (2025-06—07)
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m=465, FV0=0 m=495, FV0=0 m=530, FV0=0

- MW 25.00 A - MW 25. 3 - MW 25. 4 4 - MW
24.95 A
25.2 - 25.3 A
24.90
24. 85 A 25.1 4 25.2 A
24. 80
25.0 - 25.1 -
24.75 A
24.70 24.9 25.0 A
T T T T T T T T T T T T T
600 800 1000 1200 465 470 475 495 500 505 530 535 540
m=575,m FV0=0 m=605,m FV0=0 m=645,m FV0=0 m=665,m FV0=0
- MW 24.90 A 24. 40 A - MW 24. 20 A - MW
24.88 24.38
24.15 A
24. 86 A 24. 36 A
24.10 A
24. 84 24. 34
24.05 A
24. 82 A 24. 32 A
24. 80 A MW 24. 30 A 24.00 A
T T T T T T T T T T T T
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m=700,m FV0=0 m=725,m FV0=0 m=755,m FV0=0 m=785,m FV0=0
L - MW 23. 30 A - MW 22.90 A - MW 22. 40 - MW
23.25 A 22.85
22.35 A
23. 20 A 22. 80 A
23.15 A 22.75 A 22. 30 A
23.10 22.70
22. 25 A
23. 05 A 22. 65 A
23. 00 22.60 22.20 A
700 705 710 725 730 735 755 760 765 785 790 795
m=8195,m FV0=0 m=845,m FV0=0 m=875,m FV0=0 m=910,m FV0=0
- MW 21. 60 A - MW 21. 20 A . MW 20. 80 A ~ MW
21.55 A 21.15 A 20. 75 A
21.50 A 21.10 20.70 A
21. 45 A 21.05 A 20. 65 A
21. 40 21.00 20. 60
815 820 825 845 850 855 875 880 885 910 915 920
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PE6AW

BfiE) | GEBAK (D) | ERE (EA/K) | ERERE (B/R) | XS R

07:40 320 120.0 0.235 E BRi&e07:40 Bzl (GRAERESE)
08:10 320 120.0 0.235 5| {Ri%e08:10 Bz (FAAERSE)
08:45 320 120.0 0.235 5| {RiRe08:45 Bz (KRAERHSE)
09:25 320 120.0 0.235 E BRi&e09:25 BEh (RAERE)
10:00 320 120.0 0.235 5| {Ri%@10:00 B3 (FRAERSE)
10:35 320 120.0 0.235 = {RRi8010:35 B (RFAEESE)
11:05 320 120.0 0.235 =l RRiBe11:05 Bah (REAKEE)
11:35 320 120.0 0.235 5| {Ri%e11:35 Bz (RAERSE)
12:05 320 120.0 0.235 =l {Rige12:05 B3 (RAERSE)
12:35 320 120.0 0.235 S| {Rige12:35 B (REAERSE)
13:05 320 120.0 0.235 E| {Rig@13:05 Bzh (RE{ERSE)
13:35 320 120.0 0.235 F BRige13:35 Bz (GRAERSE)
14:05 320 120.0 0.235 S| {Rige14:05 B3 (RAERSE)
14:35 320 120.0 0.235 E BRige14:35 Bz (GRAERSE)
15:05 320 120.0 0.235 F BRige15:05 Bz (GRAERRE)
15:35 320 120.0 0.235 = {Rig@15:35 B (RAERSE)
16:05 320 120.0 0.235 El BRige16:05 Bzl (RAERERE)
16:35 320 120.0 0.235 5| {Ri%e16:35 B3 (RAERSE)
24t]5760.0 (18X%) 2160. 0 32 KEC: 2080.0, PH: 6.5

EREFRRA (0.92) , HEE

MEREHER 2 STHAEARS (291.0 : 160.0), FAIREKREERE
EOREBIRTC R IRAE R 2 (320 vs 240.0))

BRIASERRIERE160. 0 ml.

FEERECE (2170.0 vs 4758.0) i3



P6AW_W1, Day=62 (2025-06-06)

FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

ET (ml/hr/plant)

100 VI.VO,FRV,ET - VI, VO, FVI, FVO, FRV, ad JFRV, ET 5559 I 6000
4084
L 4000
040
50 12100
739 1500 %83 2000
67 Warning: lcol [FVI',| "FVO’'] missing I143
0 - -
¢ o vi —_— MW 930
300 + FRV maxM
200 (28 =
=
0 o e s e e e e e e e e T e e B g e~ e - 26
1.0 24
U
0.8 -
0.6 -
0.4
0.2
Warning: lcol ["WC1',  "WC2'] missing
2800 7 A
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